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Each lefter represenis a number beiween 0 anad 7.

‘Can you work out the solution?

—
Clue 1. R Y Clue 2.
‘IS’ is a prime number ‘BURY’" has the largest odd
D — number and 3 even

smaller than 20.

numbers.
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Clue 3. Urhymes with an even number ]

Clue 4. Y is double B. ]
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Clue 1:1S could be 11,13, 17 or 19

Clue 2: BURY must include 9 and 2, 4, 6,8 or 0

Clue 3: Umust be 2

Clue 4: Y must be 8 and B must be 4. Which means the R must be 9.

4298 x 11 = 47,278 (not correct because the ‘s’ does not equal the same
amount.

4298 x 13 = 55,874 not correct as the ‘s’ does not equal the same amount.
4298 x 17 = 73,066 this could be correct because the ‘s’ is 7 on both rows.
4298 x 19 = 81,662 not correct.
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